
(3けた)÷ (2けた)の筆算 (商が 1けた)

けいさんをしましょう。

2 0
)

1 0 0

2 4
)

1 2 0

2 5
)

1 2 5

2 3
)

1 3 8

3 6
)

1 0 8

2 6
)

1 3 0

4 年>2 けたでわるわり算の筆算>(3 けた) ÷ (2 けた) の筆算 (商が 1 けた)



(3けた)÷ (2けた)の筆算 (商が 1けた)

けいさんをしましょう。

3 0
)

1 2 0

4 0
)

2 4 0

6 0
)

1 2 0

3 1
)

1 2 4

4 6
)

1 3 8

5 4
)

4 8 6

4 年>2 けたでわるわり算の筆算>(3 けた) ÷ (2 けた) の筆算 (商が 1 けた)



(3けた)÷ (2けた)の筆算 (商が 1けた)

けいさんをしましょう。

5 5
)

1 1 0

4 6
)

1 3 8

3 5
)

1 4 0

4 3
)

3 4 4

6 7
)

3 3 5

5 8
)

5 2 2

4 年>2 けたでわるわり算の筆算>(3 けた) ÷ (2 けた) の筆算 (商が 1 けた)



(3けた)÷ (2けた)の筆算 (商が 1けた)

けいさんをしましょう。

2 5
)

2 0 0

1 5
)

1 0 5

3 5
)

2 8 0

2 6
)

1 3 0

1 8
)

1 6 2

2 4
)

1 9 2

4 年>2 けたでわるわり算の筆算>(3 けた) ÷ (2 けた) の筆算 (商が 1 けた)



(3けた)÷ (2けた)の筆算 (商が 1けた)

けいさんをしましょう。

2 5
)

2 2 5

1 4
)

1 2 6

3 6
)

1 0 8

4 6
)

1 8 4

2 8
)

1 4 0

2 4
)

1 4 4

4 年>2 けたでわるわり算の筆算>(3 けた) ÷ (2 けた) の筆算 (商が 1 けた)


